



Usa il raggruppamento per risolvere. Assicurati che la risposta non sia una frazione impropria.

1) $3\frac{6}{10} - 1\frac{8}{10} =$

2) $6\frac{2}{6} - 4\frac{3}{6} =$

3) $5\frac{2}{7} - 4\frac{4}{7} =$

4) $9\frac{1}{9} - 5\frac{2}{9} =$

5) $4\frac{2}{10} - 1\frac{3}{10} =$

6) $5\frac{1}{4} - 2\frac{2}{4} =$

7) $3\frac{4}{7} - 1\frac{6}{7} =$

8) $5\frac{1}{5} - 3\frac{3}{5} =$

9) $8\frac{1}{5} - 3\frac{2}{5} =$

10) $10\frac{1}{8} - 4\frac{2}{8} =$

11) $3\frac{3}{10} - 2\frac{7}{10} =$

12) $2\frac{1}{3} - 1\frac{2}{3} =$

13) $3\frac{1}{7} - 2\frac{2}{7} =$

14) $5\frac{1}{5} - 2\frac{2}{5} =$

Risposte

1. _____

2. _____

3. _____

4. _____

5. _____

6. _____

7. _____

8. _____

9. _____

10. _____

11. _____

12. _____

13. _____

14. _____



Usa il raggruppamento per risolvere. Assicurati che la risposta non sia una frazione impropria.

$$1) \quad 3 \frac{6}{10} - 1 \frac{8}{10} =$$

$$2 \frac{16}{10} - 1 \frac{8}{10} = 1 \frac{8}{10}$$

$$3) \quad 5 \frac{2}{7} - 4 \frac{4}{7} =$$

$$4 \frac{9}{7} - 4 \frac{4}{7} = \frac{5}{7}$$

$$5) \quad 4 \frac{2}{10} - 1 \frac{3}{10} =$$

$$3 \frac{12}{10} - 1 \frac{3}{10} = 2 \frac{9}{10}$$

$$7) \quad 3 \frac{4}{7} - 1 \frac{6}{7} =$$

$$2 \frac{11}{7} - 1 \frac{6}{7} = 1 \frac{5}{7}$$

$$9) \quad 8 \frac{1}{5} - 3 \frac{2}{5} =$$

$$7 \frac{6}{5} - 3 \frac{2}{5} = 4 \frac{4}{5}$$

$$11) \quad 3 \frac{3}{10} - 2 \frac{7}{10} =$$

$$2 \frac{13}{10} - 2 \frac{7}{10} = \frac{6}{10}$$

$$13) \quad 3 \frac{1}{7} - 2 \frac{2}{7} =$$

$$2 \frac{8}{7} - 2 \frac{2}{7} = \frac{6}{7}$$

$$2) \quad 6 \frac{2}{6} - 4 \frac{3}{6} =$$

$$5 \frac{8}{6} - 4 \frac{3}{6} = 1 \frac{5}{6}$$

$$4) \quad 9 \frac{1}{9} - 5 \frac{2}{9} =$$

$$8 \frac{10}{9} - 5 \frac{2}{9} = 3 \frac{8}{9}$$

$$6) \quad 5 \frac{1}{4} - 2 \frac{2}{4} =$$

$$4 \frac{5}{4} - 2 \frac{2}{4} = 2 \frac{3}{4}$$

$$8) \quad 5 \frac{1}{5} - 3 \frac{3}{5} =$$

$$4 \frac{6}{5} - 3 \frac{3}{5} = 1 \frac{3}{5}$$

$$10) \quad 10 \frac{1}{8} - 4 \frac{2}{8} =$$

$$9 \frac{9}{8} - 4 \frac{2}{8} = 5 \frac{7}{8}$$

$$12) \quad 2 \frac{1}{3} - 1 \frac{2}{3} =$$

$$1 \frac{4}{3} - 1 \frac{2}{3} = \frac{2}{3}$$

$$14) \quad 5 \frac{1}{5} - 2 \frac{2}{5} =$$

$$4 \frac{6}{5} - 2 \frac{2}{5} = 2 \frac{4}{5}$$

Risposte

1. $1 \frac{8}{10}$

2. $1 \frac{5}{6}$

3. $\frac{5}{7}$

4. $3 \frac{8}{9}$

5. $2 \frac{9}{10}$

6. $2 \frac{3}{4}$

7. $1 \frac{5}{7}$

8. $1 \frac{3}{5}$

9. $4 \frac{4}{5}$

10. $5 \frac{7}{8}$

11. $\frac{6}{10}$

12. $\frac{2}{3}$

13. $\frac{6}{7}$

14. $2 \frac{4}{5}$



Usa il raggruppamento per risolvere. Assicurati che la risposta non sia una frazione

impropria.

$1 \frac{5}{6}$

$\frac{5}{7}$

$1 \frac{8}{10}$

$\frac{6}{10}$

$\frac{2}{3}$

$1 \frac{3}{5}$

$5 \frac{7}{8}$

$2 \frac{9}{10}$

$1 \frac{5}{7}$

$2 \frac{3}{4}$

$3 \frac{8}{9}$

$4 \frac{4}{5}$

1) $3 \frac{6}{10} - 1 \frac{8}{10} =$

2) $6 \frac{2}{6} - 4 \frac{3}{6} =$

3) $5 \frac{2}{7} - 4 \frac{4}{7} =$

4) $9 \frac{1}{9} - 5 \frac{2}{9} =$

5) $4 \frac{2}{10} - 1 \frac{3}{10} =$

6) $5 \frac{1}{4} - 2 \frac{2}{4} =$

7) $3 \frac{4}{7} - 1 \frac{6}{7} =$

8) $5 \frac{1}{5} - 3 \frac{3}{5} =$

9) $8 \frac{1}{5} - 3 \frac{2}{5} =$

10) $10 \frac{1}{8} - 4 \frac{2}{8} =$

11) $3 \frac{3}{10} - 2 \frac{7}{10} =$

12) $2 \frac{1}{3} - 1 \frac{2}{3} =$

Risposte

1. _____

2. _____

3. _____

4. _____

5. _____

6. _____

7. _____

8. _____

9. _____

10. _____

11. _____

12. _____